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Abstract

This study aims to compare and analyze somatotype characteristics in clothing ergonomics as well as
Sasang (Oriental physical constitution type classification into 4 kinds: taeyang, taeeum, soyang, soeum)
medicine. The subjects were women collegians in their 20s. As a result, a new approach was made in
somatotype classification. The following are conclusions:

1. The results of body measurement of the subjects belonged to 1 in most items when they were
compared with the average records of female adults in their 20s in the national standard physique report.
Thus, the subjects belonged to the average somatotype.

2. According to Sasang physical constitution classification, no subjects belonged to taeyang-type.
Taeeum type (28.4%), had lower-body development greatest height and even development in width,
thickness and girth. Soeum-type(37.8%) had the smallest physique. Soyang-type(33.8%) showed small
values in height but great values in width, thickness and girth.

3. The factor analysis revealed 5 factors of somatotype characteristics: lower body factors including
body weight, upper body factors, height factors including stature, belly width factors including waist and
belly, and other factors comprising ankle and head size.

4. A cluster analysis by way of factor scores resulted in 3 types: cluster 1 44.6%, biggest values, largest
somatotypes; cluster 2 17.6%, average somatotypes; cluster 3 tiniest somatotypes in most items.

5. In the crosstabs analysis, taeeum-type (57.6%) appeared a lot in cluster 1, soyang-type (76.9%)
appeared most in cluster 2, and soeum-type (69.9%) was mostly seen in cluster 3.

To sum up, the somatotype analysis of clothing ergonomics had something to do with constitution
classification suggested in Sasang medicine. For clear justification, more systematic and scientific
research should be followed with even more diverse subjects in sex and age.

Key words: Sasang physical constitution(AF&H|E), taeyang-type(E221), taceum-type(EHS L)),

soyang-type(2-221), soeum-type(4=&21), somatotype(X| )
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BT - R - Z3%/MUSBEQN RFSH BER BRIV L ABESIAIS B0t 7R BRI LLICl LEBREATT

<E 5> Rog MYEY HIW 2

(2] : cm)

(Sd= S5 (=33, 44.6%) 25 2n=13, 17.6%) S84 3(1=28, 37.8%) -
a2 M SD. M SD, M SD. ¥
1 7| 165.34c 368 162.85D 370 157.92a 282 36745+
2 20| 136.30c 6.42 132.20b 336 12872a 326 777
3. 0f7f=0| 135.32¢ 422 132.34b 349 128682 329 23447
4. 820 105.07b 407 103.14b 319 100.14a 223 16,66
5. 250l=0] 83070 382 81.93b 323 78882 172 14,38%*
6. £2=0| 46780 217 45780 154 43284 143 2858
7 ElE=0| 14273¢c 383 140.07b 373 136.50a 230 26,74+
8. ol 15.67a 068 15.74a 0.42 15.61a 074 0.16
9. 21| 9.72b 062 899 046 9.20a 052 10,67
10, o7t 36220 143 3487a 162 34.17a 099 18,62
EET 2721a 103 26.33a 122 2687 273 102
12, ZEX|H| 527b 038 5400 034 480a 044 14.05%*
13 5l2|4] 23324 074 2293 110 22884 148 129
14, HHUH] 29.38a 147 2852 140 28924 147 179
15, 0[] 3382c 177 32420 110 30.64a 227 2133
REEEEETER] 15,400 151 15.080 139 13.45a 199 1067
7. 22| 10220 070 9.65a 047 955a 056 971
18, AHCX|H] 10,080 075 922a 0.38 92%a 085 11,65
19, =14 545¢ 023 462 022 5.01b 032 48,65
20, 257 9.80b 0.61 9,660 059 927a 051 64T
21 7S 22.080 182 21.43ab 112 20.90a 160 397"
22 5l2|= 17.15b 122 16.70ab 125 16.23a 133 399*
23 bS] 20,020 160 19.920 133 1811a 199 1037
24, A0S 2197b 136 21450 087 20.31a 153 1157
25, U2 7.30c 059 6.37a 043 678D 0.39 1846
26. H2=2| 56.21c 106 54.18a 271 55.27b 104 043"+
27. 2=2 31.40a 095 30.70a 125 3091a 168 173
28 J15= 86.21b 363 83.86b 466 81.24a 440 10.98"*
20, WIts e 75.32b 31 731a 187 71292 396 11.29%*
30, Y=z 26.67b 138 25580 173 24.11a 251 13,23
31, HEx|= 2301b 098 21502 082 21122 134 23 64**
R A==2 15.07b 075 14,224 062 14.01a 090 14,31
33, &lal=a| 70.05b 435 6774ab 292 64.44a 430 590%
34, ti=z] 82.33b 491 7927b 477 75.82a 6.05 1217
35, d=ol=2| 95640 435 91.03a 228 8899 373 2363
36, gxiclal=g| 54.32c 380 51570 110 4875 286 2389
37 22=2 36.42c 198 34750 136 3297a 131 3253+
38, R[S 35.65b 153 3297a 137 3250a 166 34,19
30, Y==2 21380 100 19.47a 110 19732 066 3348
40, ZZo| 55.02¢ 261 53530 286 5204a 171 12,06
4. 22H 56.59¢ 382 52820 361 49.00a 483 24,69*

I35’*E|*E 7“% 7B X0Vt = HHES M= OHE =XI2 BAIGIIC @ (b (o)
* p<0.05 ** p<0.01 ** p<0.001 M=Ex, SD=HZHx}
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31.09 1.34 ==L
83.92 4.65 7t& s
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74
(100.0)
(100.0)
(100.0)

(7.1)
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S M =

UAgd Algd 2%

<H 7> R 11 EISI0 HMESEA ROIZHA 21t
(T-test) £19 + om
28 | R 1(h=33) | EfSLI(n=21) T2
25 M |SD.| M |SD.
1. 71 165,34 |3.68|165.06 |2.84 | 2036
2. ==0| 136.30 |6.42| 13575 |7.46| 0.032
3. O17=0] 135,32 | 4.22| 134./1|347| 1367
4. 5121=0| 105.07 [4.07[103.95|4.05| 0.008
5. YE0I=0| 83.07 |382| 8222|237 | 7467
6. FE=0| 4678 | 217 | 4624|169 | 1781
7. BiE&=0] 14273 |383| 14254 |3.01| 1.899*
8. Hz|H| 15,67 |0.68| 1583|0.79| 1.627
9. =4 972|062 992]061| 0.040
10. O{7HAH| 3622 | 143 | 3586|143 | 0.022
1. 7k544| 27211103 | 2724(090| 1326
12, ZEXIHH| 5271038 534|035| 0422
13, &fe2l] 2332 |0.74] 2360 |0.84| 0.606
14, Hif4H]| 2038 | 147 | 29.36|1.46| 0.006
15, Y04t 3382 | 1.77| 3341|224 | 1538
16. EXCk2|Hd] | 1540 | 151 1522|192 | 0987
17. FEU4H| 10.22 |0.70| 10.07|0.84| 0.285
18. ZHX|Hd| 10.06 |0.75| 1014 |0.59| 1./96
19, &= 545 1023| 541]026| 0524
20. =5 980 |061] 976|070| 0284
AR = 2208 [1.82| 2202 |2.02| 0.506
22, &2|= 1715 1122 17171135] 1.001
23, HIEA 20,02 [160| 2010|161 | 0.053
24, JH0I1=A | 2097 [ 136 | 2206 | 1.21 | 0.009
25, A= 730|059 7.15]0.48| 0981
26. Hz|=2| 56,21 |1.06| 5501|088 0.145
27, ==2 3140 |0.95] 31.93|1.02| 0.003
28 Jt&=2 86.21 |363| 8644 |345| 0.012
29 YItEERl | 7532 | 311 | 7543(220| 0292
30, fIE=d 2667 |138| 2721]11.09| 0508
31, &=l 2301 [0.98] 2280|109 | 0.004
3R == 15,07 |0.756| 1495|061 1.753
33, 52zl 70.05 |4.35| 6867|307| 3.752
34. =zl 8233 | 491| 8335|544 | 0.305
35, dHol=2| | 9564 |435| 9499 |501| 1502
36. GACtelEal | 54.32 |380| 5454 (425| 0.010
37 2E=t 3642 | 198 | 3637|191 | 0.150
38 MUX|E2| | 3565|153 | 3585(145| 0189
39, d==2 2138 [1.00| 2162]0.86| 1.900
40, ZZo| 5502 | 261| 5460|249 | 0.115
4. =25 5659 [382| 5689 |4.06| 0.135

* p<0.05 ** p<0.01 *** p<0.001 M=Ex, SD=H
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&Rt

<H 8> R 20 A2A0I0| HSHEA ROIZHA 21t
(T-test) £19 + om
28 | 78 2n=13) | AYRU(N=25) T2
25 M |SD.| M |SD.
1.7 162.85 | 370(160.89 |5.09| 1222
2. ==0| 13220 |3.36| 131.03 | 4.81| 1378
3, {74=0] 132.34 | 349 130.75 | 4.65| 0.759
4. 5121=0| 10314 | 319 110262 | 417 | 2138
5. ¥E0l=0| 8193 |3.23| 80.83|4.05| 1481
6. FE=0| 4578 | 154 | 4520 |247| 3598
7. BiE&=0| 140.07 | 37313878 |4.53| 0.672
8. M| 1674 1042] 1550|049 0.050
9. =4 899 |046] 929|057| 0812
10. O{7hAH] 3487 1162 | 3535|141 | 0.299
1. 7k&UH| 2633 | 122 | 2639|113 | 0.069
12, ZEXIHH| 540 [034| 527]040| 3422
13, &fe2lH] 2293 1110 | 2296|101 | 0174
14, Hif4H]| 2852 |140| 2937|181 | 0646
15. Y0 4H] 3242 1110 | 3308 |1.32| 0506
16. ‘E&Ct2|HH] | 1508 [1.39] 1628|110 | 1722
17. FE4H| 965|047 986|057 0.903
18, FEX|AH| 922 |038| 976|0.76| 6.728*
19, 2=| 462 1022| 500/046| 2830
20. S5 966 [059] 967|052| 0548
21 7155 2143 | 112 | 2207|124 | 0307
22, &2|= 16.70 | 125 1704|121 | 0.247
23, Hi=A 1992 1133 | 1988|189 | 3405
24, LH0|= 2145 1087| 2167 |1.41] 4030
25, =57 6.37 1043 674072 2079
26. Hz2l=2| 5418 | 271 | 5565|219 | 0977
27, ==2 30.70 | 125| 3126|117 | 0.166
28 Jt&=2 8386 |4.66| 85.06|4.29| 0.305
29, WIEEd /311 1187 ] 7388|228| 0.225
30, ¢E=d 2558 | 173 | 2588|180 | 0475
31 ZEXIEe 2150 |0.82| 2216|1.31| 4381*
3R == 1422 10.62| 14.62[090| 5284
33, slel=e 6774 1292| 6946 |377| 0519
34. izl 7927 | 477 | 81.04|475| 0.001
35, dHol=2| | 91.03 |228| 9326|591| 1507
36. GActelEal| 5157 | 110 | 5238 (265| 3.058
37 2=t 3475|136 | 3518 [165| 0.928
38 MUX|E2| | 3297 |137| 3392|204| 1075
39, Z==2 19.47 1110 | 2018|137 | 0.731
40, HZo| 5353 |286| 5315|248| 0.345
4. A 5282 | 361| 5381|360] 0.056

* p<0.05 ** p<0.01 *** p<0.001 M=Er, SD=HZHX}
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<H 9D 7 32 AS010| HHEM XO|AHE 21
(T-tes? =2 cm
28 |88 3n=28) | A221(n=28) T2t
3= M |[SD.| M |SD.
1.7 157.92 [2.82116094 | 477 | 8018*
2 =2=0| 12872 |326| 13194 |496| 7.166*
3. O{7=0] 12868 [3.29| 131.85|519 | 0.907
4. 512|=0] 100,14 [2.23 110228 | 371 | 4.459*
5. 440|=0| 7888 | 172 | 80.99 | 39113215
6. FE=0| 4328 |143| 4464|264| 8395
7. °HE=0| 136.50 [2.30 | 138.93 | 4.26 | 10.932**
8. 02|Ud| 1561 |0.74| 15.68]0.68| 0.251
9, SUH| 920 |052] 910(0.43| 0974
10, O{7HLHH| 3417 |099| 2717 |274| 3596
1. 7k&U4H| 2687 |273| 2717|274] 0.002
12, TEX|UH| 480 [044| 480|0.44| 0.060
13. &f2/LHd] 2288 1148 | 2281|133 | 1648
14, diiqd] 2892 | 147 | 2854|097 | 2702
15, FH0|LH| 3064 |227| 3096|254 | 0.827
16, E&ct2|Hd] | 1345 |199| 1356203 | 0.035
17. RE14d| 955|056 972|064| 0303
18, ZTX|H| 922 1085 9.04]076| 0.960
19, &=214H| 5011032] 506|036| 1410
20, S5 927|051 936|059 0.692
21, 7tE5 2090 {160 | 2065|147 | 0205
22 ol2l5 A 1623 | 1.33| 1610|119 | 0.258
23, B2 1811 1199 | 1814|166 | 0546
24, AH0I=| 2031 [1563| 2027|134 0215
25, LY== 6.78 10.39| 6.97]053| 3412
26. Hel=2 5527 |1.04| 54981136 | 0.161
27, == 3091|168 | 3032|129 | 3.040
28 Jt&=d 8124 |440| 81.01(429| 0.058
29, WtEE 7129 1396 71.461472| 0.057
30, == 2411|251 23911219 | 0954
31 ZEX=Y 2112 1134 | 21.35(143| 0506
3R 225 14.01 |1090| 1411101 | 0.038
33. 5lel=a 6444 |430| 6694|541 | 0.197
34, ti=d| 7582 |6.05] 7479|452| 3044
36, ¥HOl=8l | 8899 | 373 | 8947|418 | 0213
36. gXicte|=al | 4875 [2.86| 49.04 310 | 0.446
37. 2= 3297 [ 131 | 3334|211 | 4716
38, HEX|=| 3250 |1.66| 32641165 | 0.047
30, == 1973 |0.66| 1973|057 | 0.007
40, ZHZo| 5204 | 171 | 53341293 | 5259
=7 4900 |4.83| 4951|548| 0130

* p<0.05 ** p<0.01 *** p<0,001 M=, SD=HZHA}

39



HIYMEIZUALY A8 28

D (%)

ok

<E 10> MEE HS

i u o
= | Bg ¥

mJ Ko ® Nm@

R z® D&

E} = R 13w

| w3

ur| ol @M jo0 ©F

70 TR ol = o|_J

= - uIE H__v._E

i = 2 {1}

m = | TE O

®| I R

ok © ol 2 H

o WS |k

o0 ey

El R

= or - m_hﬁﬂ

T 0o |dy T

= SN S o

=y Hoor | R

ol -9 | @ |0 ®

Bwy | wE |25

ok 3 0F @ |0F @
T |Tw |2

k= o =<
R R =Y
w2 S
o oo = ol -5
n 80 od ol

T F m,._ﬁ_Hu ow
Ur|s e TR
R R -
0N |53 Kr
g & (OO ko
XUl — OF 100 100 ~
=0 ) O o _—
ST OuF T U =

0~ == | ®

B o B or 2=

R WO HH UF 100 "X

e A

Moy @i | =

& o m|ok IF ®|IF o

~ Kol T T OKR|T o

2SS | 2 @

Blong | 08 |00k

R u_.__._Hmd AA_% A.A%

Kl

|
E|

S0
=

EfQI0| Qle o= LIERQH, Ef

=
=

A sl

o=z M ME 712

=

A

5t

(28.4%)2 sfgtlo] E

0l
= 2o

)

g8 7IXAL AeH

i

K

,_OL
il
o

-
&

=P

21 71t 33 Sl - S

= Al

AUZE 5

oll

Al

2|
A
=

S
S

INENSIIPE

=
=

o,
oz EREACL

o
60

(33.8%)2 =0

=
o0
¥

3

Je2|m

S
S

A

ot A

af Hl=

= Eize!

F=01l.A

S
=3

2l

=
=

Lt Hd] - =

olzt

7t =4X0|22 0IF =

Eotzloll= o
ixe 20t

f

=1
=

=
=

5|

2t ot7|

= old}
= =2

0l

0| e,

& Oz
= TlgAt

i
Y
o

to4

[S)

27| 9

=]

<
ol
o
od
30
wjr

3. Ixel X 4

tieez ZEH OlFo{Motsin o2

=
=

=
=}

[=]3
s

?.

3

od

XA

2 ot Bt

2 M= EC

0l
=

4

sl0i0} &

<

7t

iz,

ol 4=

H2|37|201e2 LIEHT,

J|EfRQloz e gl

[
[

o
A

o
=01A 7t

| el gEoz BR

49| 44.6%= LIF&E2

x

MY 25

200 Oitids tide= ARy

b

=

b

S
S

o
=

1

=

om, 7

ol
wjr
70

=

=
gl
T80
OF
ol
o
ofn
KIr

=

=
ol

J)
o3

=l
i)
=<

Soil &

2= TA|C] 17.6%= ErA|

S
S

2FEACL 7

I
B

= X

o, 37.8%

LtO
vl
=O0IM 7HY allast X

ZO=Z LtEH

=
=

St

’

gy

§ 21X} sf

(<]

ERO Mz2 22 A=

S

A

o= LIEHTCE

=

3

S,
t=]

SELIS

RESN

ol

NEHHE 2

| 2

xtel
Aol XMIAIE 20CH

i

Z4
=

5!

ofn

st

EnS
==

S0IM 1ol
IE=2 Zi= 200 oyl Er

b

S
S

| ool

A9| o

=

S 7t

201 cH
I(76.9%), 12|10

3

o
T

ks

dl

s3]
=

o =2

40



$RrUR) BTV O] HEEREATT

b

oF

&

=
=

pl

5

FRER Bt AR

F

2f

=

- ZRHR3E/IUSERE 0l 1RIE

- TR

q_

=
1==]

P

TH 4+ K E KRR

g3 = 3% “Wol
. 00 0 ol Iy ol ol o
=) < o ® o X0 W 0 LA
a « ol 2 H1 & ok o &zl Q8
5 WwE X ol m__imwm_x%
|,I,~W = m_le‘ ok zr i ok ilod fir E % o H
CPeal o mawd . wuSHa
Boph R DR oz 3 =g o
IR e T S Lo o X
0 =< m B o <L gy g B0
< o _ X0 o) = & E Klo S Sk R o
Ho o oOF & ® = e S .
WREy WP Ew pow
Tadem EHILT gyl
S PE Pps¥mIg i Maw
ol 3 <X = A@._Ha.m._f.\{.,uﬂﬁw._mlen,lﬂ
— © \./.ﬂ_.A_n..ﬂ___o._md_.A_.tq.ﬁw\).o_._._._
o~ @ M L © =2 OH = © O LIz
999,._@.0:_._8H.|._._H_W .MM s YD
2220 MN2g Rz _WT 0T
0 K B kU oF ™ o7 of ' A & of ® w0 <H Bl
ol I & O RO RO 80
€0 <0 <0 =) IS ) KO
S TEp=¥® -
o’ X =< =
=0 MDT_#MEP o) op
L [ R o =S
™ __A:|__OH._,/II21‘|_¥ o
= K o &l Eill] W ©
S wow Y NS
2 pr om0 Y NooBs
o pr T a2 g
()} WV = = =
e NMEgmg ® a2
On_ O;@ %Lﬂ_ ml_ |:|_ amﬁ_%
BoHZwg® T
4 B E ooy . | C w2
I T x " 0o o Ao 2
B =5 oop<H kI = O~
O X Ib = o O} & m s s
N Eom oo KO3 m ol S
Pl H ol I = o =
W;é%#ﬂ%w__ = =5 o
Ao I VI e s W
TR AT Sx5¢
o o 3 X 8 S5 2%
@ e 0 I e 2 B S FIR TR
_.,_moﬁ]_O@||Oom M_l _Hmw,_a
OF IH K K ~ O H ~d N

41

g

(2004 128 5

SH(

(1999). KS A-7004.

(1997). KS A-7003.

|
fo 0|

2]
=

o
o

2]
=

S

I

AEHATS](2001). www.sinbinan,co.kr

AR
(1997). At

[l

[s)

ch



